2l = 7
€0-31Les -+ €0-dvv'e
00+30c’€ -+ 10-469'V
10+36€c —+ 00+d11°6
11-322'1
c0—-dT1L'L
A9/ AS1auy
001 010

9¥cec =

meNX
= WJON
= [A9¥] L

= xXni4

2jed oadg

9-01

c-01

y-0T1

YS0Pvv+201SSLlr SXde

A3/ K3asuqg
001 010

I_ 1 ______ 1 1 1 ____ LI ]

- p%+%# .

: i:i ”

”_ 1 ____%v__ 1 #_ L1111 .”.

A9¥ /ABasuy
001 o1o

1 T [TTT T T 1 T [TTT T T 1
o)
- |
(o] I _
o
o]
=3
7] = ]
~
o n _
3 _ i
8 = ] —
) N . B e ]
~ B - _
a | —
“m |

- 1 [0 1 11111 H

eyow,wuresd

8610 9€60€6

s[enpisay

2-01

1-01

(A®¥ s)/syuno)



